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Average Time of Insertion Sort for Permutation with Repetition

Asi se calculaba el tiempo de ejecucion.

Cost Times
procedure insertion_sort(A[1...n])
fori— tondo C n
x «— A[i] G n-1
O insert A[i] into A[1,..,I-1] Cz 0
j—i1 Cs n-1
while x<A[j] and j>0 do Cs Z.=l___: t;
Ali+1] < Al Ce 2, (k-
je it ¢ Xy a(ti-1)
end_while
Alj+1] « x Cs n-1
end_for
end
Best case time complexity t; (n)
In this case t = 1 then
ts (n) =cn+(c+ca+cg)n-1+ s Zi=2 1+ (cs+ ) Zi=2 |0

=(cy + Ca + C4Cg 4 C5) N - (€2 + C4+Cg 4 C5)
=an+b

=0 (n)



Worst case time complexity t,, (n)

In this case t =i then

tw(n) =cn+(ca+ca+cg)n1+ cs Zi=2”ni + (cg+ ) Zi=2 . (i—1)

=an’+bn+c

O (n?)

Average case time complexity t. (n)
We know that the average case time complexity is like:
ts(n) =an‘+bn+c

Se puede aproximar t, con los valores obtenidos en uno de los Applets
construidos, dando los siguientes resultados.
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